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for the questions.

Answer either in English or in Assamese.

. 1. Choose the correct answer : 1x10=10
w% Ve difR Sfaedt s

(a) The relationship between a banker and
customer is :

[T I AFI eI TE T ¢
(i) That of a debtor and creditor

MAVIS S Areqmig
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(ii) That of creditor and debtor
oA oI
(iii) Primarily that of debtor and creditor.

AfiTei@ @EMN SF AreTmIT |

(b) To constitute a person as a customer :

g T aigs i ARefTe 2 3

(i) There must be frequency of transaction
Al AR W =

(ii) There must be of a banking transaction
QT AAI (ETHO

(iii) There must be sort of an account.

R ol ooE o A akE|

(c) The balance of a joint account in the name
of x, y and z should be paid by the bank

on the death of x :

x—%%ﬁgﬂﬁ@x,y@@z%@@ﬂﬁﬂ?ﬁ 4

&l 5 @S T A PRI 8
(i) To the legal representative of X

x-3 wizwere efefH
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(ii) To y and z
y Oi€ z ¥

_ (iii) Legal representative of x, y and z.

(d)
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X, y O z-J ﬂﬁﬂ_ﬂ’saﬁﬁf\s 45 |

In the case of negotiable instrument which
person generally gets a good title :

AT TS (FFEH G ALTS
Tesig wies Rl Ko 21 ¢
(i) Finder of the lost instrument
o ([2 (I IfE
(ii) Holder of stolen instrument
R Rl o iR

(iii) Holder in due course.

RS 4= |

The reasonable period allowed in India for

presentation of a cheque is :
Sieas @S (5T Wl fa s
2 ¢ | |
@) 1 year,
@ T=J
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(i) 9 months
(iii) 3 months

ol W7

~ (f) The safest form of crossing :

MG (@I TS 27 2

(i) General crossing
AT (A

(ii) Special crossing
ReTeim @RI

(iii) A/c payee crossing.

GIE SRR RIS

(i) A holder for value
o TR AT
(iii) An agent.
o afs |

(h) A banker’s lien is:

(RIF] SEFF I T T ¢

(i) General lien
MY ST TV T
~ (ii) Particular lien _
Roo W A g
(iii) Negative lien.

YN SRPIR A TG |

(g) A ‘collecting banker is given statutory
protection only when he acts as : ‘

AT TS [ftm Jaw o I [

(i) Which of the following market is known as
short term loan market ?

weTe GRS (TN TRITT FHOM! 4T IS

ot o8 ¢ Ifr R = 2
(i) A holder (i) Call money markét
a9 ol @l TE
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- (ii) Treasury bill market
(iii) Money market.
@l S|
(7 The biggest constfaints in E-banking is :
B-@RrT A SO 27 ¢
(i)‘ Start up cost
AT
(ii) Trading cqst
PRSI
~(iii) Security cost.

el A |

2. Answer any five of the folloWing 1 2x5=10

~ (a) Define the term ‘banker’ as per Banking

Regulation Act, 1949.

5585 HoR (R AV Hige PR (I

wgest |
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(b) Give the meaning of E-banking.
@R = fopi |

(c) Define Non-Performing Asset.
SRS WGy wAgesl o |

(d) Who is known as collcc{ing banker.

AN @ @2

(¢) What is bank balance sheet ?
[F9 Tgenlg et & o 2

(f) What is crossing of a chequé ‘7
GF 93 (AT 9 W T 2

(g) Name any four negotiable instruments.
Resien siRRy zwiesaey wieem " B

(h) What is garnishee ‘order 7

b SR = 2
Answer any four questions of the folloWing in
about 200 words each : = 5x4=20

ARSI 20051 *] ose Remre bIfHGT 2pe Se
foral 8

(a) Explain the basic principles of commercial
banking.

e @ e Newmr 3 w4
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(b) Discuss the procedure of opening a bank

- (©)

(d)

(e)

®

account in the name of partnership firm.

AW AT A @RI W (AT

ARSI A P |

Briefly explain the different forms of banking
system.

@ Rfen Aafomz s T F |

Differentiate between a cheque and a Bank

draft.

QAN (5F T @ ([ Qo oNgy |

What are the special features of banker’s

lien ?

@S w99 RoE @EEpE & B o2

Discuss the 'meaning and significance of

 liquidity.

oiers oY TF TG SNEEA |

(g) State the modern functions of a bank.

9B @Y YT IR Srmd 4|
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Answer any four of the following questions in

about 600 words each :

W@ooﬁmh‘mﬁmﬂﬁﬁ
oy Tey Tl ¢

(a) Discuss the rights of banker relating to

(b)
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5+5=10
@mﬂ—ﬁm— RS DI TACE Ao 1

(i) Right to set-’off
Rotel Feafen wftom
(ii)) Appropriation of payn‘lent.v
el w3l g R iR |
Or / Si2_1

Explain the circumstances under which the
banker-customer relationship terminates. 10

(@ @99 SRR 9Bl @ AT e

ToPe ARG w6 i /0

What is private sector bank ? Distinguish :

between public sector bank and private sector
bank. | ' 2+8=10

Jfor Qo7 @ Be IS 0T @F AT
IS e (@Y Me ~ANLTRR G 9|
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(c) ‘Discuss the different types on loans granted i
by a banker to a customer. 10§

DIEEIG R SRRl e eeRe awpngsa.
R wiceneal |
Write notes on (any two) : 5x2=10
Gl Tl (R @t goi) ¢

(i) Doubled crossing

i

(79 ([
(ii) Capital adequacy norm
o AR 9l
(iii)‘Hypoth_ecation
(iv) Banker’s Book Evidence Abt.
@ B AN IR |

Mention the statutory protection granted to |
the collecting banker under the Negotlable
Instrument Act, 1881. 108

Sbby bR TGRS U@ SIiZe SHcic
eI (A fral R wmcf W‘R
S F4
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(¢)

(10) 13000

k. () Define endorsement. What are the different

kinds of endorsement ? Discuss the requisites
of a valid endorsement. 2+4+4=10

ﬁﬁ@«ﬁi@ﬁﬁlﬁ%ﬁﬂ%ﬁ%@ﬁs%?
@Y ZRRITT ARSI FALTZ A 4 |

Or / 519t

Discuss the sound investment principles of
a bank. 10

@ AR RE@ENITS T e 311 |
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